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Examinee is directad to read carefully the lollowing
instructions :

. Examinse must write histher Roll Number in the

specified box on the top laft hand corner of this page.
Answers are required to be marked anly on the
Compulerised O.M.R. Answer sheet which is baing
provided 1o the examinse.

. Basidas {illing in the Roll Numbaer, the examinee has

to put his/her signature and other required delalls fike
MName, Roll Number, Queslion Booklel code, etc, as
indicated on ihe Answer OMR Sheat. If thase detalls
ara not {illad in by the examinee, histher Answer Sheat
will not ba evaluated.

. For each guestion, there are four altemalive answers,

out of which only one is correct. Examines musi darken
the circle of correct option in tha Answer Shaet by Black
Hall Pan only.

. There are 40 (3743} pages In this Question-Booklel

including 1 page for General Instructions and two
blank paFas for Rough Work in the [asl. in case
an examinee receives an incomplele or defective
Question Booklal, he/she should make a request

b dlm Ehmmeen leeeiomilode o 8 b A

D & NGO vigilator io change ihe same wilhin
10 minutes of slarl of tha axam.

. This Question Booklet conlains 150 guastions from
lollowing subjects :
(1) Maths Q.Nes. 1-50
(2) Chemistry Q.Nes. 51-100
(3) Physics C.Nos. 101 -150

. Each queslion carries 1 mark and % mark will ba

deducled for each wrong answer,

. In case of any discrapancy between the English and

Hindi versions of any question, the English version will
ba treated as final/authantic,

. Posseasion and use of elecironic devices such as

Caleulator, Cellular Phona, Digilal Diary, Log Table,
Pager, eic., are restricted during the examination,
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MATHEMATICS

A lot of 20 bulbs contain 4 defective
bulbs. One bulb is drawn at random
from the lot, the probability of this bulb
being defective is

1 1

& 5 9) 20

C) —;— D) none of these
_Iftan (A +B) = V3, tan (A-B) = %
0<A+B<90° then A and B are

A) 30° 15°

B) 30° 30°

C) 60°, 45°

D) 45°, 15°

2 women and 5 men can together finish
an embroidery work in 4 days while
3 women and 6 men can finish in 3 days.
Find the number of days taken by one
woman alone to finish the work.

A) 20 days B) 18 days
C) 15 days %E D) 28 days
(5]

. Ina AABC, [C=3|B=2(|A+|B), then

IC =
A) 100° B) 120°
C) 110° D) 80°

. WHCF and LCM of ‘a’ and 96 are 4 and

9696 respectively, a =
A) 44 B) 4040
C) 4004 D) 404

Page No. 3

.uﬁtan(A+B)=J§.tan(A—B)=7-5,

nifora

argfese &9 8 T sed et S 8, d @@

eet 3 aragqol €14 3t STRreRaT 8
1 1

A) 5 B 26

c) & D) ¥ & s e
5

1

0<A+B<90°, WAMBE
A) 30°,16°
B) 30°,30°
C)-60°, 45°
D)/45°, 15°

. 2 ffgeTd 3K 5 YEY U FQIs & W Hl

4 oAt & FuT S TR &, Safeh 3 Aiged 3R
6 789 38 3 Tt f gura X gwhd € | W

ufeett 3R 31t 39 F1E S GATE A ¥
T s aret et &t wen 3| i |
A) 20 fea B) 18 i3
C) 15f& D) 28 fa7
. AABCH [C=3|B=2(|A+[B) &, @
@:
A) 100° B) 120°
C) 110° D) 80°

. afé ‘a’ 3R 96 % Ty 3 FTEY

;4 3R 9696 ¥, dt a =

A) 44 B) 4040
C) 4004 D) 404
PECE 2021
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6. If cotb = g then the value of

(1+5sinB) (1-sinB) i
(14 cos8) (1-cos9)

49 9
A) — B) =~
; 64 ) 64
C) % D) none of these
7. Which of the following is not true ?
; 1
sin30° = —
A) si >
B) cos30°= izg—
C) sin90°=0
D) cos 0° =1

8. The area of a semicircle of a circle

whose circumference is 22 cm is

A) Zz-;icm2 B) 77 cm?
77 cm?2 77 om?2

9. From a point Q, the length of
tangentto a circle is 8 cm and
the distance of Q from the
centre is 10 cm, the radius is

A) 2 cm B) 7cm
C) 6 cm D) 18 cm

If o, P are roots of the equation

s ox2 — 4% = 3 = 0, then the value of
2 4 B2is
o 0) 7
D) -4

C) 3
Page No. 4

6. af¥ cotf =~ a (1+5sin®) (1-sinp)
8’ (1+cos6)(1-cos)
HIAM 8
49 9
A 64 S
ol o D), ¥ & A 7

7. feafafga i asm-maa adi e ?
A) sin30°=%

B) cos30°=—

S

C) sin 90° =
D) cos 0° =1

8. afz ga 1 aftfr 22 cm B, A 35 regw F
SELTC AU
T s 2

A) o cm B) 77 cm?
y & T 2
C) —2—' cm D) a

9. %Qﬁ@ﬁmwﬁi@ﬁmscm

%@Iﬁﬁﬂ@ﬁ@mcm%,?ﬁﬁw%

A) 2cm B) 7cm

el

C) 6cm Eﬁ D) 18 cm

10. af o, pEHIHC 2x2 — 4x—3 = O F T &,

?ﬁa2+B2ﬂm%

A) 5 B) 7

c)3 - D) —4

PECE 2021
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115

1c

13.

14.

15.

186.

g 5
If sinA = 3 0 <A <90° find tan A.

4 5
A g B 12
4
C) 2 D) none of these

The co-ordinates of centre of g circle if

extremities of a diameter are (-1,5)and
(5,-1) are

A) (2,2) B) (-2, -2)

C) 4, 4) D) none of these
The 30™ term of the sequence 10, 7, 4, . .
is

A) 97 B) 77

C) -77 D) -87

The roots of the equation 3x2 — 2x +

are :

A) real and equal

B) imaginary

C) real and distinct g!%
D) none of these

fx(x +1) + 8 = (x + 2) (x — 2), then the
value of x is

A) 12
B) —12
C) 10

D) none of these

The average of 40 numbers is 35. If
two of the numbers 84 and 62 are
not included, then the average of the
remaining numbers is
A) 34

C) 30

B) 33

11.

12.

13.

14.

15.

16.

D) 37

gRRsinA = %.0<A<90°,ﬂitanAwaﬁ|

5

A) -‘5‘— B) 12

Ife w =@ & B (-1, 5) 3R (5, -1) ¥,
A 39 g9 % % & FewTH &

A) (2,2) B)(-2,-2)

C) (4,4) D) $H & 13 A&

@l 10, 7,4, .. F1 30 1@ R
A) 97 B) 77
C) -77 D) -87

et 3x2—2x+% F AT

A) arfas TR GHH
B) sTeafeh

C) arafass R fird
D) T & 1§ T

ﬂﬁx(x+\1)+8=(x+2)(x—2),?ﬁx%1
LIC

A) 12

B) —12

C) 10

D) 8 & ®r§ e

40 TEAI3 =1 offwa 35 2 | Afe & @@
84 3N 62 = et 71 forar s, A 9y
& F Iieg §
A) 34
C) 30

B) 33
D) 37
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17,

18.

19.

20.

g 8

22.

The average weight of 5 men is 75 kg,
that of 4 ladies is 63 kg and that of
6 boys is 38 kg. Find the average weight
of 15 members.

A) 54 kg

B) 57 kg

C) 60 kg

D) Can't be determined

A sum of money triples itself in 18 years
under simple interest. What is the rate
of interest per annum ?

A) 9.09% B) 11.11%
o EEE] o
C) 9% §§% D) 18%

If 33+* = 9 x 81 x 27, then (a + b)? =
A) 9 B) 81
C) 196 D) 576

The difference between the present
ages of father and son is 20 years. The
ratio of their ages after 5 years will be
2 : 1. What is the son’s age at present ?

A) 5 years B) 15 years

C) 10 years D) 20 years

If p(x) = x* — 3x2 + 4x + 5 is divided by
x2 — x + 1, then the remainder obtained is
A) 3 B) 5

C) 6 D) 8

The area of a triangle whose vertices
are A(1,-1), B(-4, 6) and C(-3, -5) is
A) 24 sq. units
B) 42 sq. units
C) O

D) none of these

17.

18.

&£

20.

21.

22.

Page No. 6

5 sl 1 aited R 75 kg B, 4 3 &
aaa W 63 kg 37 6 TgHI 1 T WK
38 kg & | 15 gae &1 3ited ¥R TG H |
A) 54 kg

B) 57 kg

C) 60 kg

D) fruffea & faran s &@hdl

w Tfiy @awe ST @ 18 st | farH @
STt & | i o s il AR 7

A) 9.09% B) 11.11%

C) 9% D) 18%

gfg 32+ =9 x 81 x 27,4l (@ + b)2 =

A) 9 B) 81

C) 196 D) 576

e 3R g3 i T g F FW 20 T E |
5 ¥ YTSTq 3h! T T TG 2 : 1 B |
FAAA H G Al TG AT R 7

A) 534 B) 15 a¥

C) 10 ad D) 20 a%

IR p(X) =x* —3x2 + 4Xx + S5H X2 — X + 1
¥ fawifora forn e @, @ o 9w @

A) 3 B) 5

C) 6 D) 8

36 fyge 1 &t fores widfag A(1, —1),
B(—4, 6) 3 C(-3, -5) &, &

A) 24 o TS

B) 42 = 31§

C) 0

D) FH & IS T
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p3. Volume of a cube of side length 6 cm is 23. ST 6CM EISRERAICIERE R
C) 6cm D) 18 cm?3 C) 6 cm? D) 18 cm?

24, g(ﬂgb:)bﬂity of an event A s %, then 24, a2 T TeAT A H SfEE % %, AP(not A) =

1 2

1 2 A) — B)

. B _— 3
A) 3 ) 3 3

1 1 1 D) 1
0 g B o ©) & ) %4

25. The wickets taken by a bowler in 05, e itesret g1 10 fmehe A= # forg oy faahe

10 cricket matches are as follows : #f4 ﬁQ‘N% .

2|6|41510l21 113, 3.2

*6¢,5021,332
Find the mode of the data.

A) 3 B) 5 :ﬁﬂaﬁﬁmﬁ% 5
C) 6 D) 2 C) 6 D) 2

% 1il-5and2-3_4, 6. 7R 141532 -84 @ (xy)=
Xy X y A T
then (x, y) =
V23 ey CEIEAE
30 o) | o@D eI

7. The 20 term from the last term of the 27. |HiaT Aoft 5

i ’ 7| 91 ) o oe e r
Arithmetic Progression 5, 7, 9, 11, . .. 11 78, 75 & 3ifem

73,75 s E%gomq—dg
e B) -37 B) 37
C) 87 D) 47 C) 37 g4

8. A sum of Rs, 700 is to be used to give 28. ¥. 700 # ; !
7 cagh prizeBs t7£ students in a school. If 7 Twe Mﬂ%?ﬁm;m !
each cash prize is Rs. 20 less than the Y% T ) | afe
Preceding one, the cash given to the Wﬁ'&m&wﬁﬁm %. 20 %A &, A ey
flrst prize winner is A) %. 140 T 9hq S'{Iaﬂ'{%
A) Rs. 140 B) Rs. 40 o B) . 40

D) ®. 160

C D) Rs. 160
©jMarupdate.com CE 2021
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29.

30.

31.

32.

33.

If (8)4’(*3 = (64)3”1' then x = ?
A) 2 B) :21
c) 3 1

) 5 D) 5

Addi.ng 20% of x to x is equivalent to
Multiplying x by which of the following ?

A) 1.05 B) 12.5
C) 1.20 D) 1.15

A quadratic polynomial with
sum of zeroes as % and

product of zeroes as —1 is

A) 4x2—x -4
C) 42 +x+4

B) 4x% +x—4
D) none of these

The quotient obtained when x* — 5x + 6
is divided by 2 — x? is
A) x2-2
C) 2-x2

B) —x2-2
D) x2+2

Half the perimeter of a rectangular
garden, whose length is 4 m more than
its breadth is 36 m. The dimensions of
the garden are

A) length = 11 m, breadth =7 m

B) length = 20 m, breadth = 16 m

C) length = 18 m, breadth = 15 m

D) none of these

Solve 2x + 3y = 11 and 2x — 4y = —24
hence find the value of m for which

and

y = mx + 3.

A) 3 B) 1
C) __1 D) —3

29,

30.

31.

32.

33.

34.

Page No. 8

o g)°ees = (64) T %=
A) 2 B) 2
1
0 3 D)2
X x 1 20% Sren x i e 3 §
ey o St ok ST € 7
A) 1.05 B) 12.5
C) 1.20 D) 1.15
7% feorefa agecdh e T 1 A 4 afe
%S —1 8
A) 4x2—x -4 B) 4x2+x -4
C) 4x2+x +4 D) s & &g e
x4 —5X + 6 Tl 2 — x2 @ 9T a4 WIS
TS & '
Ay -2 SAS  B) x2-2
C) 2-x2 @N D) x2 42
F JAAEHR TS i gfefy w5
39T 36 m 8 3R ST ¥ e

4 m 3 B | i & ot §

A) T =11m,SeE =7m
B) &g = 20 m, e = 16 m
C) @ = 18 m, ASE = 15 m
D) H & &I3 T g

ox + 3y = 113 2x—4y =— 24 RTAHRL AN

y=mx+3%ﬁﬂmwmmﬁﬁﬂl
A) 3 B) 1
C) -1 D) -3

PECE 2021



ionbecomes
35. Afractio 3 When 1 issub

tra
from the numerator gn It beg Cted

. Omes |
when 8 is added to itg deno es —

- 4
mlnatol.
the fraction is  then

12
AT B) 7
@gﬁ 12

5 W
6= m¥E p) 11
12 L
12

3. A sum amounts to Rg

6 ;
Syears at 13% p.a. simple in 000 in

terest, then

the sum is
A) Rs. 55,000 B) Rs. 50,000
C) Rs. 40,000 D) Rs. 45,000

37. The area of an isosceles triangle whose
base is 8 cm and one of the equal sides
measures 5 cm is

A) 12 sq.cm
B) 24 sq. cm
C) 36 sq. cm
D) none of these

38. Awire in the form of a rectangle of length
7 cm and breadth 4 cm is bent to form
a circle. What is the area of the circle 7

A) 38.5sq.cm B) 36 sg.cm
C) 49.5 sq. cm D) 49 sg.cm

39. The angle of elevation of the tg;:v r?ifcﬁ
tower from a point on the QrOU:e tower
is 45 m away from the foot of t .
15 80°, The height of the 1o’

A 42 : B) 45fm
{oy3m
C) 30/3m D)

35.

36.

37.

38.

39.

©jharupdate.com

@fﬁa%am%,mmﬁﬁ1m
mam%ama,maﬁssﬁam
I AR

12 7
A 5 8 12
5 11
) 12 o 12
us Uity 5 81 # 13% ufd ad & grumor sarst
¥ %. 66,000 B I B, A Tl R
A) %. 55,000 B) %. 50,000
C) %. 40,000 D) %. 45,000
T gafgemg e 1 dawa e smuw

8 cm 3R FHM W13t # A 0 5 cm B, &M
A) 12sq.cm
B) 24 sq.cm
C) 36 sg.cm

D) T @ 13 &

&S 7 om 3R werd 4 om oot T SR
T AR 1 T I SR 3 fore vt o & |
T T BBl T R 7
A) 38.5 sq. cm
C) 49.5 sq. cm

B) 36 sq.cm
D) 49 sq.cm

TR H AR Y 45 M g 0 foig A 2
5 3014 1 3ot on 600 | T Sd &

A 45
)Ugm
C) 30V3m

B) 45/3m

D) 10V3 m

m ©iharupdate.com  PECE 2094



40.

41.

42.

43.

The ages of 2 persons are in the ratio 5 : 7.
18 years ago, their ages were in the
ratio of 8 : 13, then their present ages
are

A) 50 years, 70 years
B) 25 years, 35 years
C) 5 years, 7 years
D) none of these

The mean of first 12 natural

numbers is
A) 1.56 g%’ B) 6.6
C) 6.5 D) 65

y is older than x by 7 years and 15 years
th

back, x's age was % of y's age.

Present age of x is
A) 36 years
C) 21 years

B) 43 years
D) none of these

The hypotenuse of a right angled triangle
is 20 cm. The difference between lengths
of its other two sides is 4 cm. Thelength
of sides are

A) 11em, 15¢cm
B) 12cm, 16 cm
C) 20 cm, 24 em
D) none of these

If 3-+/3 ig'one of roots of the quadratic
equation, then the equation is

A) x2-Bx+6=0
B) x?+6x-6=0
C) x2+3x-9=0
D) none of these

©jharupdate.com [ty

INO

40.

41.

42,

43,

44,

©jharupdate.com

aaﬁﬁﬁmwms’ﬁ”a“
7, 376 3 1 1T 8 1 13 U, T IH
aduT a7y &

A) 50 ad, 70 a4

B) 25 o, 35 a8

C) 5ad, 7 a4

D) &4 & =g 7@l

SYH 12 SieHferer TS H A1 R
B) 6.6
D) 65

A) 1.56
C) 6.5

y, x & 7 ad wg1 8 3ft 15 g, x 1 g
yaamasgzﬁ.maamm%

B) 43 ¥
D) ¥ & FI¥ 78

T G I 0t 20 cm R |
TEhT 3T 3 ST F TS F o7
4 cm R | yTretl Y e @

A) 11cm,15¢cm

B) 12cm, 16 cm

C) 20 cm, 24 cm

D) 38 & #1§ 7e

A 3 - /3 e ol 3 it @ @
2, o wfteo

A) xX2-6x+6=0

B) x*+6x-6=0

C) xX3+3x=9=0

D) ¥ & I e

A) 36 T
C) 21 a9

PECE 2n21



45. The co-ordinates of the point whj

46.

47.

a%

49,

50.

ICh divides

the line joining the points A(-1,7), B(4, -3)

in the ratio 2 : 3 are

A) (-1, 3)
c) (1,-3)

B) (1,3)
D) none of these

The value of
sin48° c0s42° + COS48° sing2° -

A) 1
B) 0
C) 2
D) None of these

The sum of the areas of 2 squares is
468 m2. If the difference of their

perimeters is 24 cm, the length of sides
of 2 squares are

A) 18m,12m
C) 16 m, 13 m

B) 177m, 13 m
D) none of these

. In a flower bed, there are 23 rose nlnntc:

= = LAY A YT

in the first row, 21 in the 2" row, 19 in
the 3" row and so on. If there are 5 rose
plants in the last row, how many rose
plants are there in the flower bed ?

A) 140 B) 190

C) 150 D) none of these
Which term of the Arithmetic Progression
-3,-8,-13,...is =787

A) 15h B) 16"

C) 10t D) 14"

The number of zeroes of a quadratic
polynomial.if the graph intersects x-axis
at 2 points is

A) 2
B) 1
C)o
D) can’t be determined

Page No. 11

45.

46.

47.

n
_cn

49.

50.

3 firg 3 Fdmier < f9g A(-1, 7), B(4, -3)
21 Sire arel {1 1 2 : 3 % g A
fyvfora st 2

A) (-1, 3) B) (1, 3)

c) (1,—9) D) FH & I e
sin48° c0s42° + c0s48° sin42° =1 I 2
A) 1 e

B) 0  mim

C) 2

D) 3 @ IS T

0.3l % SEFEAl o1 I 468 m2 ® | afe 3T
ot =01 e 24 om &, 1 2 7 3 el
SIS ©

A) 18 m, 12 m
C) 16 m, 13 m

B) 17m, 13 m
D) ¥4 & =ig 78l

nzumn—ﬂﬁ UE:&U%ﬁOQm%ﬁ&

Ty N R <0 YUHS T Nig,

gaﬁw%ﬁ21,aﬁaﬂqﬁ-ﬁrﬁ1gaﬂtgeﬁw
i i 8 | afe sifem ufe | 5 1o 9w E,

A I TS e TeAre o e e § 7

A) 140 B) 190

C) 150 D) ¥ & IE e

AR Aot -3, -8, —13, . . . FH FH-TT 92

-78% 7

A) 158t B) 163t

C) 104t D) 14 af

“ﬁmwﬂaﬁa‘rﬁzmmﬁam

A) wmaﬁ‘mﬁ@ﬁm%
2

B) 1

C) o

AL L T —
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CHEMISTRY

51. Baking powder is a mixture of baking
Soda and a mild edible acid such as

A) Gluconicacid  B) Maleic acid

C) Tartaric acid D) Fatty acid
S2. Washing soda is

A) Na,CO,.5H,0 ’

Of4

B) Na,CO,.H,0 ﬁf[ﬁ

C) Na,C0,.10H,0

D) Na,CO,

53. Some metals can be beaten into thin
sheets. This property is called

A) metallic lustre B) ductility
C) sonorous D) malleability
54. Leadand are comparatively
poor conductors of heat.
A) Silver B) Mercury
C) Copper D) Zinc
55. is a liquid of non-metal.
A) Carbon B) Sulphur
C) lodine D) Bromine
56. Non-metallic oxides are in
nature.
A) inert B) acidic
C) basic D) neutral
57. Bases which are soluble in water are
called
A) Pyridine B) Acids
C) Salts D) Alkalis

Page No. 12

g fagm

51. afm g, A drer ol wF @ e
It FRAHTR
A) wEfEefe - B) Aei e
C) zéfw e D) %& dfre

52. af¥m | R
A) Na,CO,.5H,0
B) Na,CO,.H,0
C) Na,CO,.10H,0

D) Na,CO,
53. $® uTq F! Jieat Taen ¥iie S=ET ST R |
T 0 i FEAE |
A) urfes ifa B) &<fieTya
C) rgATeyef D) smeamaasigar
54. drar 3R T &9 @
1Y & FHIR HaETEF & & |
A) =i B) urg
C) dmn D) s
55. T T -urg R |
A) FrEq B) Hewt
C) JMIEH D) sifiy

56. A-Nefers siweggE _
T TR R |

A) fafsa B) arsfia
C) & D) 3ewi=
57. 4} &R A gt A g B § 3 Fen
A) TRIETH B) tfiew
C) Hiee® D) sreieeltst
PECE 2021
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58.

59.

60.

61.

62,

63,

©jharupdate.com

Metalloid among the following

A) Lithium

B) Sodium

¢) Calcium

D) Tellurium %g%

Generally paper impregnated with the

is used for measuring pH.
A) acid-base indicator
B) redox indicator
C) external indicator
D) universal indicator

When pH of rain water is less than
it is called acid rain.

B) 5.6
D) 7.4

A) 6.5
C) 7.0

White silver chloride turns grey in sunlight.
This is due to the of silver
chloride.

B) displacement
D) decomposition

A) oxidation
C) reduction

solution of acetic acid in

water is called vinegar.
A) 35 - 40% B) 25 - 30%
C) 15-20% D),5 - 8%

Ethanoic acid reacts with absolute
ethanol in the presence of an _———
Catalyst to give an ester.

A) Acid B) Base

C) Nickel D) Palladium

58.

59.

60.

61.

62.

63.

Prffiga # & Aerise
A) fafeam
B) @ifEa
C) Hferad
) K ke
sy g o= 7T o forg *
maaﬁﬁﬁwmm%mmh
A) tfre-ad fehe
B) Retad 3fedhet
C) TEZAa e
D) gfada $feehet
e a1 & g o1 AT q A
ST e, a 38 anct il i FEd ¢ |
A) 6.5 B) 5.6
C) 7.0 D) 7.4
wthe freat Feiige g & W # U
STl @ | 7% foean s &
F HR BT R |
A) et B) faeum
o ¥ effes et e A
foam wea § |
A) 35—400/0 — %
OAE I g ) SurR
T SR %y v e 2 2 |
A) 30

IEC o % S
% D) e

PP e - -



64. Modern periodic table is based on

65.

66.

67.

68.

69.

70.

A) Atomic weight
B) Atomic number
C) Atomic size

D) Chemical nature

is a process of heating
the ores strongly in limited air.

A) Reduction B) Oxidation

C) Roasting D) Calcination
and caesium

have very low melting points.

A) Thallium B) Radium

C) Gallium D) Copper
is a non-metal but it is

lustrous.

A) Flourine B) Chlorine

C) Bromine D) lodine

is the hardest natural substance
known and has a very high melting point.

A) Diamond B) Graphite

C) Silicon carbide D) Fullerene

is a amphoteric oxide.
A) Aluminium oxide

B) Sodium oxide

C) Potassium oxide

D) Silver oxide

Magnesium does not react with

A) hot water B) cold water

C) oxygen D) acid

64. aMyf srad ol W@ R |

65.

66.

67.

68.

69.

70.

A) THTfUges M
B) wmtfoass d&dl
C) qtHTivah TN
D) Tamafie wefd
Hifiq a1 § ST &l Yool
T 0 F H AR |
A) fream B) aHifeeyH
C) afen D) hfcyHym
3fit difsrm &1 e aga
w9 BT 2 |
A) enfem B) ez
C) Aferam D) el
& R-4rg 2 Afe 77
THIAT BT B |
A) wfE B8k B) it
C) i B b smirem
FTd WTehfash qerd o
T FH3IN & N 3EH T Tgd
Jferw ear & |
~A) T B) Uwrse
C) fafswsmise D) gt
TS Wy rFmse R |
A) Tgfifam siss
B) wifsam atfwrgs
C) WrRfirm siFass
D) foeer stfwass
MfRmm % wry wfafa
FATE |
A) T gt B) 3e1 urt
C) AfadisH D) 3t
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is the most ductile Meta|

B) Platinum
D) Gold

A) Silver
c) Copper

2, The reaction of Iron (Il) oxide with
is usedto join railway tracks
or cracked machine parts,

A) Magnesium
B) Aluminium
C) Manganese
D) Zinc

73. Carbon cannot reduce the oxides of
g&' B) Zn
40
D) Fe

74, is a method of protecting
steel and iron from rusting by coating
them with a thin layer of zinc.

A) Tinning B) Anodising
C) Galvanisation =~ D) Phosphating

A) Al
C) Sn

5. Bronze is an alloy of copper and

A) Zinc B) Chromium
C) Nickel D) Tin

[
- The decomposition of vegetable matter

nto COmpost is an example of AE——
"Saction,

A ®ndothermic
B) 8Xothermic
displacement

; doubq displacement

g P

T2

73.

74,

75.

76.

gard erefren uTg AT R |
s TN B) wifeH
A) s D) =l
C) dret
. F 9y
(|| HATFETES
W(;{m £ gefat a1 wefia &
A) BrafiEd
B) wegfHfa
C) #rs
D) e
F 37TaaTEE ! HE FHH T8l
TR |
A) Al B) Zn
C) Sn D) Fe
e 3R AR F T H T Iaedl W F
Y HIET ek S & a9 Tk Ay
?
A) fefim B) wArgTEfS
C) e gy D) wiEkfen
I, = qYT 1 0 g @ |
A) ST B) sifam
C) fara D) f&=
W%Wmm&ﬁm
‘““.‘-MW@W%I
A) TRiyfifs;
B) Trufits;

C) Revdryy
0) S Rt
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77. Plaster of Paris is

~I
@

79.

80.

81.

82.

A) CaSO4.%H20
B) CaSO,.H,O
C) CaS0,.2H,0

D) CaSO,

is an alloy of lead and tin.
A) Solder B) Brass
C) Amalgam D) None of these

Zinc and lead are more reactive
elements than

A) Copper B) Aluminium
C) Calcium D) Magnesium
When fats and oils are they

become rancid and their smell and taste
changes.

A) reduced
C) decomposed

B) oxidised
D) precipitated

Magnesium ribbon burns with a dazzling

white flame and changes into a white
powder. This powder is called

A) Magnesium oxide
B) Magnesium carbonate
C) Magnesium hydroxide
D) Magnesium nitrate

Name the compound used for removing
permanent hardness of water,

A) Sodium carbonate
B) Bleaching powder
C) Sodium bicarbonate

D) Baking soda

i,

78,

/9,

80.

81.

82.

TATEST 3T S i e § |
A) CaS0,. 7 H,0
B) CaS0,.H,0
C) CaS0,.2H,0
D) CaSO,

, dfvan i fo 1 o famumg R
A) Hieet B) diad
C) THTer™ D) ¥ & Fi¢ 7
ST 3T, g 3ty wlafrmfia
T |
A) e . B) uepHifam

4

C) Ffcwmm Eﬁ D) fafiy
SR | BaE, I QA
B ST & 37N 3 7Y 3R e aed S
A) Fu=fia B) 3tTedtaRd
C) *ufeq D) sraafya
Arf¥ram o i IHeer g% o § sram

ST 8, 1 9 W IS § yhafdd o s d |
JE IS B

A) Bfirm stfaurse

B) AW wEte

C) #mifirm wrsgiaase

D) Awfirm Argee

&0 i 1 T T R agv gt ¥
R GG 1 T FA % e qrar |
A) afeay FrEtre

B) fetfent uraet

C) @fewm st

D) sfd drer



g3, Calcium oxide reacts vj

85.

86.

87.

88,

gorous| \
water to produce Y with

A) Quicklime

B) Lime stone

C) Slaked lime
D) None of these

g is formed after two to three
days of white washing and gives a shiny
finish to the walls.

A) Calcium oxide

B) Calcium hydroxide
C) Calcium carbonate
D) Calcium sulphate

Chemical formula for marble is
A) CaCl, B) CaSO,
C) CaO D) CaCO3

Our stomach produces

e _.lthelpsinthe
digestion of food.

A) Acetic acid

B) Hydrochloric acid
C) Formic acid

D) Sulphuric acid

e

Tooth enamel, made up of'
is the hardest substance in the body.

A) Calcium chloride
B) Calcium phosphate
C) Calcium carbonate
D) Calcium sulphate

e
Chior-alkali process is used fof th

Production of
A) NaCl
C) Na,CO,

B) HCI

83. Wmﬂ%mmﬁgﬁm

84.

85.

86.

87.

88.

D) NaOH “
GiPage it

Flh
INREETL
B) AT T

C) g1 <l
D) 3 & & T

THA F 3} A At & e F=ar
3 37K dar F) U THHER Tl A R |
A) Ffcarm sAfaarse

C) CaO

THRT AR

I FT 8 |

B) *fciram erEgiaaTss

C) Hfcwram FHrae
D) HfArm gehe

AT &1 TES G &

A) CaCl, B) CaSO,

D) CaCO,

_ wdTe | TE
WIS ! T § g8 2T R |

A) ufafes ufire

B) wTsgidaiita ufire

C) it ufrs

D) svw i ufyre

R T T T TR T
m*%'—llﬁnf% |

A) ¥R Feinse
B) Hferam wieire
C) $fe¥m saitye
D) HfRmm i

STl S 1 3

*m%m%mmt| —————
B B) HCI

C) Nach)3 D) NaOH
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89.

90.

91.

g2.

93.

94.

Bleaching powder is produced by the
action of chlorine on

A) Lime water

B) Dry slaked lime
C) Lime stone

D) None of these

Sodium hydrogencarbonate

(NaHCO,) is
A) Bakingsoda  B) Washing soda
C) Brine 5@] D) None of these

Precipitation reaction produce
A) Organic compounds

B) Oils and fats

C) Soluble salts

D) Insoluble salts

What happens when sulphuric acid is
added to zinc ?

A) Zn salt and water produced

B) Sulphur and ZnO are produced
C) H, gas and ZnSO, are produced
D) No reaction takes place

2NaOH(aq)

A) Sodium zincate
B) Sodium oxide
C) Zinc oxide

D) Zinc hydroxide

+Zn(e) ”"_‘—)X+H XS

2(9)'

On passing the carbon dioxide gas

through lime water is formed.
A) CaCO, B) Ca(OH),
C) CaO D) Ca(HCO,),

89.

90.

91.

92,

93.

94,

Page No. 18

sffqmamer SR i B
B0 &1 € | |
A) T qrf |
B) 1 T |
C) T e

D) ¥ & #ié T

difeam gregieaEe (NaHCO,) #
A) afém are B) arf¥m wrer
C) s D) ¥ & &iE 7

sadqu yfafpad _ SeE FA R
A) FTelfaeh e

B) e Ud @@l

C) Hoie TH

D) STeeiieT T

RN BT B T GRS I Hl T % A1Y
fireman ST 8 ¢

A) fr wiee 3 ot v &

B) e 31 ZnO od &

C) H, % 3k ZnSO, 7 &

D) Y wferfsran 7€ gran @

2NaOH ;) + Zny — X + Hyg): X2

A) afeam e

B) wifam aiaugs

C) for wiFumge

D) frh greglass

I F g A e erdarTeRTsS g g

¥ wAmR

A) CaCO, B) Ca(OH),

C) Ca0 D) Ca(HCO,),
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1=
95.

96.

97.

98.

89,

100.

Metallic oxides are said to be

A) Neutral oxides

B) Acidic oxides

C) Basic oxides
)

Very reactive
x v ©jharupdate.com

Hydrogen gas is not evolved when a

mnatal raante with
1ITLAl TOTWVLD ¥Vt

B) HCI

H
C) H,SO, D) H,PO,

Copper does not react with
A) Dil.HCI B) Conc.HCI
C) HNO, D) All of these

Number of electrons in M Shell of
phosphorus is

A) 3
C) 6

B) 5
D) 7

Cinnabar is an ore of
A) Copper

B) Zinc

C) Mercury

D) Lead

—____ores are changed into oxides
by heating strongly in limited air.

A) Sulphide

B) Carbonate

C) Oxide

D) Chloride

95.

96.

g¥.

98.

98,

100.

Herfer TTFaTES Feard &

A) =g ATFETES

B) tfufes ifaamse

C) «fte TS

D) efa wldafsrarsfia

Tl TS UTd ¥ gy wfafma st

A Do o TS gaar 2

6, 1 RIIKIVIM 7N 7Tl S101 b |

A) HNO, B) HCI

C) H,SO, D) H,PO,

e & oy fdafsran T @ |

A) Dil.HCI B) Conc.HCI

C) HNO, D) 3 @

EEHRE & M IS J SeAFHl ht G
TR |

A) 3 & B)5

C) 6 gﬁ D) 7

I EIEIT 1 Ueh T © |

A) e

B) e

C) g (W)

D) dtar

Hiftra arg ® yeerar @ ™ FE ©W

— IR T ATHATEE

4 oed far srar @

A) GcF13E

B) &tz

C) Hiaqrse

D) FRIRT ©jharupdate.com
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101

102.

103.

104.

105.

PHYSICS

- Which is the ultimate source of energy ?

A) Water
C) Uranium

B) Sun
D) Fossil fuels

The radius of curvature of a
Spherical mirror is 20 cm. What

Is its focal length ?
A) 20 cm
C) 5¢cm

B) 10cm
D) 40 cm

You are given kerosene, turpentine and
water. In which of these does the light
travel faster ? (Given : refractive indices
of kerosene, turpentine and water are
1.44,1.47 and 1.33 respectively)

A) Water £ (5]
= L

R Karnaama~
= \

) NTIivoclic
C) Turpentine
D) It does not travel, it reflects to the

same media

A convex lens forms a real and inverted
image of a needle at a distance of 50 cm

©jharupdate.com

witferes fam™
101, 3ofl o1 g A F 2 7
B) ¥

A) 5@
C) v D) e $¥r

- @mmﬁmﬁmmcm% |
! HihE gl AR 7
A) 20 cm
C) 5cm

103. e A, Fere si st fan s B
i & Pl reprer 350 & wreran & 7 (R @
U, T 3R A & IAqacHIh HAI:
1.44, 1.47 3 1.33)

A) S

B) *ud

C) T=TsH

D) &% =eidl 78 &, 98 34t "rew H quafda
& STaT @

104. % 3091 oW I9@ 50 cm g UF GE
ardfersh 3 Ieer wfefore s @ | gd Ive

B) 10cm
D) 40 cm

from it. Where is the needle placed in ¢ %
front of the convex lens, if thepimage is il ) ™ 8, A s e
equal to the size of the object ? SR 3 FR &7
A) +0.5m B) —05m A) +0.5m B) -0.5m
C) +0.25m D) -0.25 m C) +0.25m D) —-0.25m
Which one of the following materials | 105. fr=Rifaa i & fora geret &1
cannot be used to make a lens ? ﬁqm%mqﬁ%mm 27
A) Water A) S
B) Glass B) =g
C) Clay C) fidt
D) Plastic D) wifes ©jharupdate.com
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106

107.

10,

m,

A cylindrical conductor of |gp,
uniform area of cross-section
resistance R. Another conductor
of length 2! and resistance
R of the same material hag
area of cross-section

gth I ang
A has

©jharupdd
A 3A
—  E&E
A) v, e
° E 2
C) 3A D) 2A

The heating element of an electric iron
S made Up Of

A) Copper
C) Aluminium

B) Nichrome
D) Iron

~ An electric bulb is connected to a 220 V

generator. The current is 0.5 A. What
is the power of the bulb ?

A) 440 W B) 110 W
C) 55 W D) 220 W
. Magnetic effect of current was discovered
by
A) Oersted B) Faraday
C) Bohr D) Ampere

Which of the following mirror i ugedqby
a dentist to examine a small cavity *

A) Convex mirror

B) Plane mirror

C) Concave mirror

D) Concavo convex lens

The SI unit of resistivity is
A) Ohm meter

B) Per ohm per meter

C) Ohm per meter

D) Ohm meter per second

paae No. 21

106.

ite.com

107.

108.

109.

110.

111,

qmtéaﬁaﬁtmmqﬂmgnwmm

a1 ASHTEFR STereh o SRy R ¥ | T

o 3 wRY R aret 36 ward 1 AR

FTe AP 8

A 3A

A 2 B 2

C) 3A D) 2A

e forgga eft 1 A acd

1 S BT |

A) dfar B) gt

C) TegHifraH D) e

e forggd s T 220 VH SEE A R |

BT 05 AR | T R AR AR 7

A) 440 W B) 110W

C) 55 W D) 220 W

forgga % Yerehid WMTE Y @IS
TUH T |

A) ATFTE B) %2

C) @R D) TR

T BIet *fafe w1 wlem w1 & o o

Za fefercrs g wgea <dur Frafofea 3 @

HA-TR ?

A) IT& gy

B) ®Ha gdur

C) 3aqd gduy

D) JEddNe og

sfetemat 0 g amd gad 2

A) e ey

B) Wid 37ren wfy tiex

C) 3&w iy vy

D) W e sy dsrg

©jharupdate.com
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112, The potential difference between the
terminals of an electric heater is 60 V
when it draws a current of 4 A from the
source. What current will the heatt:a'r
draw if the potential difference IS
inCreased to 120 V ?

A) 10A
C) 6A

B) 8A
D) 4A
113. Calculate the total resistance
in the circuit. Given :
R,=10Q, R,=40Q,

R, =30Q, R, =204,
R5=SOQandV= 12 V.

R,
—— W ————

R2
MV

“’ &

——
.
~

A) 10 Q
C) 180

B) 8Q
D) 25 Q)

114. A student wants to extract energy from

fossil fuel. Which process woy|q help him
to extract the energy from fossi| fuel ?

A) Burning
B) Crystallisation
C) Condensation

D) Distillation
©jharupdate.com

112, o g e 3 2 3 1 R
sov%,aaasaﬁﬂﬁ4AWW@
e & | afe fasraiag s 120 V T 961
foen srren 3, < e foet Frege v e 7

B) 8A

D) 4A

oido

113, ufae & gpe Wiy 1 7O T |
fem2: R,=10Q,R,=40Q,R;=30,

R,=20Q,R, =60 Q3 V=12V|

A) 10 A
C) 6A

i)
H?
. W
®
R, B
s s
nnHS
14, T ieenfl sftarem $or & st Frefire e

A) S
B) freeefiaror
C) wdten
D) e




Eﬁ

115. How can three resistors of resistances

118.

2Q, 3Q and 6 2 be connected to give
a total resistance of 4 Q ?

30 6Q 40
—'——M'_—M_'—m_‘—

B) A

<
1l
1

Where should an object be placed in

front of a convex lens to geta real image

of the size of the object ?

A) At principal focus of the lens

B) At twice the focal length

C) Atinfini |

D; Betweet:principal focus and optical
centre

116.

©jharupdate.com
115, wfeqy

2 Q, 3 Q36 QF M yfus
4 1 Tt ST 3 3 Forg SR g T R 7

C)

3Q

B
?en

T T ) Il o % w e W@ 9,
ek S 3 AT a1 Tt fyen e St & 7
A) T8 3 1 Brer T

C) ¥ |

D) TS Wy e s 357 36

©jharupdate.com
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117, Which of the following tyP® of

118.

119,

120.

121.

o

mirror is

used in solar furnace ?
A) Concave
B) Convex
C) Plane

D) Cylindrical

©jharupdate.com

An object of 5 cm in length iS held
25 cm away from a converging 1ens of
focal length f. The image is formed qt a
distance of 16.67 cm on the other side
of the object placed. The value of f is

A) +10 cm B) -10cm

5 -+ 8 o @g}k D) —5cm
L0

The far point and near point of the
human eye with normal vision are
respectively

A) Infinity and 25 cm
B) 25 cm and infinity
C) 25 cm and 50 cm
D) 60 cm and 25 cm

The change in focal length of an eye
lens is caused by the action of the

A) Pupil
B) Retina
C) Ciliary muscles

D) Iris

Which of the fo!lowlng Is not attracted
by a magnet 7

A) Steel
C) Brass

B) Cobalt
D) Nickel

R

11%

118.

119.

120.

121,

o oy o & - T HIOTE |
wgF g & 7

A) rEad

B) Iud

C) @Haa

D) STHTHR

5 cm TS aTefl U A I B g8 f F
ue e o @ 25 cm g W@ IR |
a5 % g@dl 3 16.67 cm 1 &t T wfafem
FAAT R | f T AE B

A) +10cm
C) +5cm

B) —10cm
D) -5cm

g 3R & wHa A & g fog ofit fee
ﬁgm:%

A) 3d 3R 25 cm

B) 25 cm 3 3Hd

C) 25 cm 3R 50 cm

D) 60 cm 3 25 cm

¥ o i wrohw g § qitad fg wR @
BT ?

A) e

B) e

C) frefiwdt nteifrgt

D) amsiE

Fr=feree & & S -a1 gae gry s 7€
e ?

A) R B) wamee

C) et D) ferer
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123.

124,

125,

~ when a straight conductor is carryi
> current, then armying

A) there are circular magnetic fig|
around it dlines

B) there are magnetic field lines
to the conductor paralle|

C) there are no magnetic field lines
D) none of the above

©jharupdate.com

Why is Biogas considered as a good
source of energy ?

A) As it produces ashes

B) As it produces methan-e

C) As it burns without releasing
smoke

D) As it decomposes in the
absence of oxygen

Rihaan can use any source of energy
for cooking, but he wants to avoid
production of smoke from the source.
Which of the following sources should
he use for cooking ?

A) Coal
C) Petroleum

B) Wood
D) Electricity

Which of the following processes explains
the extraction of the sun’s energy to

generate energy to light a bulb ?

A) Conversion of electric energy into
solar energy

B) Conversion of solar energy to
electrical energy

C) Conversion of solar energy into
kinetic energy

D) Conversion of kinetic energy into
Solar energy

122, < T HeT ST forgd e e 8,

123.

124,

125.

A) T =R 3 e e & T
Bt &

B) Teieh & GHIAL Gaehid & Y@t gt ®

C) gaehra & tard 7 gl §

D) 3 # & I§ TE

SraE Y Sl 1 Tk AT B F AT

S g ?
A) il 98 T@ Ierfed T @

B) it 78 e Ieqrfed i @

C) i ae yait Wea e @

D) aiifes T sAater 1 srgatedfa A
a7qafed g 8

e TN % fore I & et oft @

SRINT S el &, T 98 Ard & YU & I
§ T =Ear @ | = d @ form e =t 3

A ¥ T s e =R ?
A FE Len  B) TR
C)aa%mg{% D) faea

=1 4 @ - whira s aea # o™ F
fere St Searem g e 1 it 3 sl
F N T e B 7

A) Torega Sty e ot aftd
B)Wmﬁﬁgamfﬁqﬁaﬂ?

C) ¥R Frtl 3 rfder ot & e

D) T S5ty e et e
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126.

127.

128.

©jharupdate.com

130.

131.

©jharupdate.com
126.

If the power of alens is — 2D, what is its
focal length ?

A) + 50 cm
C) =50 cm

B) — 100 cm
D) +100 cm

The black opening between the
aqueous humour and the lens
IS called
A) Retina
C) Cornea

B) Iris
D) Pupil

A rectangular coil of copper vyires_ is
rotated in a magnetic field. The direction

of the induced current changes once in
each

A) two revolutions
B) one revolution
C) one-fourth revolution
D) half revolution

. At noon the sun appears white as

A) Light is least scattered

B) All the colours of the white light are
scattered away

C) Blue colour is scattered the most
D) Red colour is scattered the most

A wire of length I, made of material
resistivity p is cutinto two equal parts. The
resistivity of the two parts are equal to

A) 4p B) -;—

D) p

An object is placed ata distance of 0.25 m

in front of @ plane mirror, The distance
between the object ang image will be

A) 0.25m B) 1.0m
C) 0.125m

C) 2p

127.

128.

129.

130.

131.

D) 0.5m C) 0.125m

af e o Y wfaw — 2D ?, o 3@

hlehel oeTs FTE ¢

A) +50cm B) —100 cm

C) -50cm D) +100cm

TeaResdfamengaram___

FEATE |

A) e B) sf@

C) =it D) Hf=

dfel 3 AR 1 Teh HAATRR Heel! Uk aahig

&3 # gHTE 9Tt } | Y ferga Y e v
¥ Seerd! § |

A) 3 guiq

B) T ol "

C) =g gofA %

D) st gofq '

e § gd whe @t e @ =ifE

A) WehTS1 I FHaH FhIvH BT &
B) vad Wehrar & auft T1 whifvfa B §
C) e T watfies whiftfa B 2
D) &Tel U1 Haiftres wehifola gt &

gerel Wieiaehar p 3R &eg [ 91a
e A ohl & GHTH WM A e 7147
B | 1 vt Y wfeereran &

A) 4p B) &

C) 2p D) p

T qE] TF THASA Q49 & G 0.25 m
50 & | g iR R & e A g
Luil

A) 0.25m B) 1.0m
D) 0.5m

PECE 2021



132. The angle of incidence for a ray of light

133.

134.

135.

136,

having zero reflection angle is
A) 0° B) 30°
R D) 90°

The nature of image formed by a convex
mirror when the object distance from the
mirror is less than the distance between
pole and focal point (F) of the mirror
would be

A) Real, inverted and diminished in
size

B) Real, inverted and enlarged in size

C) Virtual, upright and diminished in
size

D) Virtual, upright and enlarged in
size g&
301

The refractive index of water is 1.33.
The speed of light in water will be (given
speed of light in vacuum = 3 x108 m/s)

A) 1.33x108m/s B) 3x 108m/s
C) 226 x 108 m/s D) 2.66 x 108 m/s

Magnifying power of a concave lens is
A) Always > 1
B) Always < 1
C) Always = 1

D) Can have any value

The instrument that use to detect electric
current in the circuit is known as

A) Electric motor
B) AC generator
C) Galvanometer
D) None of the above

©jharupdate.com

©jharupdate.com

132, unaﬁqaﬁwaﬁmahuﬁsﬁamtg

133.

134.

135.

136.

3Tqdd FI0T

A) 0° B) 30°

C) 45° D) 90°
@Wmmﬁﬂﬁﬁaﬁﬂﬁﬁm
3§ aeg 1 gt g M wiwe foig (F) S =
1 gf @ =0 &l

A) arefae, 3ea 3T ATHT F B
B) arfae, Icar 3 TR & 78
C) st #ieft 3 R | BYe
D) s, dieft 3R 3R | e

el 1 ITdaqH 1.33 B | 5idd | WehTer Y

na (e ® : Frata d yeerr & nfy =
3 x108 m/s)
A) 1.33x 108 m/s

C) 2.26 x 108 m/s

B) 3x 108m/s
D) 2.66 x 108 m/s

T 9qd A9 i ey wifgg &
A) T > 1
B) Tﬁa<1
C) & = {

D) F i 71 ) e 2
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138.

139.

140.

141.

©jharupdate.com

137. AC generator works on the prmc:jzctor 37. ;{(_:n Eﬁl"' Y
. on
A) Force experlenced by ac . o &
in magnetic field A) T T g G 3 e |
B) Electromagnetic induction mznaa .
C) Electrostatic B) ferga geefra
D) Force experienced by a charged ) farg
particle D) U& 3rafira shfores gHT SATHS 1T T 5
Fossil fuels are 138. Sflarm $ua &
A) Non-renewable resources
el A) St & M-l @ra
B) Renewable resources of B) 3l o Adierufig €
energy .
C) (A) 3R (B) ai
C) Both (A) and (B) )(A) =
D) Neither (A) nor (B) D) 7 at (A) 7€ (B)
1 kilowatt hour = 139. 1 kilowatt hour =
A) 3.6 x 108 joule A) 3.6 x 106 joule
B) B8 % 46" joule B) 3.6 x 102 joule
C) 3.6 joule C) 3.6 joule
D) 3.6 x 109 joule D) 3.6 x 10'° joule
Hydropower plant are located in the 140. Seifa da= iR
A) Desert area A) Yirem &
B) Hilly terrains B) Wt&@‘g
C) Plane area C) der & g;%
D) None of these D) = & S T
A battery of 10 V carrieg 20,000 C of 141, T 10 V 1 9t 20,000 C %7 313w 20 Q
charge through a resistance of 20 Q. o sy 8§ 98 FA R | 10 Qebg F fopy
The work done in 10 sgcongs a e 2
3 .
A) 2x10 ]OUIB B) 2><1O4jOU|9 A) 2x103\—7m' B) 2X104q:(q
o3
G) 2x107J0U8 By 5. 102 (pille C) 2 x 1055 D) 2 x 102 5
©harupdate.com  e———— i
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,42. Two devices are connected between
two points say A and B in parallel. The
physical quantity that will remain the
same between the two points is

A) Current
B) Resistance

C) Voltage
D) None of these

143. Calculate the current through the 10 Q
resistor in the following circuit.
200

A / '””100 oy B
N “MSQ g

—I|t =9
6V
A) 1.2 A B) 0.2A
C) 0.6 A D) 20A

144. If R, and R, be the resistance of the
filament of 40 W and 60 W respectively
operating 220 V, then

A) R, <R, B) R, 2 R,

C) R,=R, D) R, <R,
145. What is the maximum resistance which
can be made using five resistors each
1

mgn?
A) 1(2 B

s ) 10 Q
C) 10 D) 5Q

142. ag@lﬁmﬁAaﬂTBz’tﬁgﬁ%d\a

oA @

A) faga urd
B) wfed
C) et
D) ¥ & FIS TE
143.ﬁq%1tﬂwﬁqwﬂ1onnﬁﬁwﬁﬁga
qm—,ﬁq-fommaw'ﬁl
20Q
% g \—A\s:"’—o‘—?/ j
| L )
6V
A) 1.2A B) 0.2A
C) 0.6 A D) 20A

144. TfX 220 V I gREfeTd &3 arel 40 W 3R
60 W % dgail & wfediy s R, 3 R,
g @

A) R, <R,
C) Ry =R,

B) R, 2 R,
D) R, <R,

1
145-9?%59 T gt WRRYE 1 YA R

ST ST e et fireran Wiy T @ ?
A) 10

) 5 B) 10 Q
=i D) 5Q

B
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146,

147,

148.

149.

150.

©jharupdate.com

146, S seprer P 3 sr 1 8 A ST

When light rays enters the eye, most of
the refraction occurs at the

A) Crystalline lens

B) Iris

C) Outer surface of the cornea
D) Pupil

When white light enters a
glass prism from air, the

angle of deviation is least for
A) Blue light

B) Yellow light

C) Violet light

D) Red light

The least resistance obtained by using
2Q,40,1Qand 100 Qis

A) <100 Q B) <4Q

C)>2q . Eif¥ p) <10
s

The energy efficient device for producing
light is

A) DLF B) CFL

C) FCL D) LPG

If nresistors each of resistance R are
connectedin parallel Combination, then
their equivalent resistance jg

A) B)

3:\:‘ o

D=
L=

C)

= = I,lzm

©jharup

AuadT Wﬁ’fﬂ%l
A) UrEyies o|
B) snsfa
C) whif4a1 o1 aTel 53
D) wfyet
147, mﬁammﬁ@ﬁaa’mﬁﬁ;
w0 B, @ fr=ew w0
fore =pam far g |
A) e wem
B) dielr wehrt
C) st wehra
D) e STl
148. 2Q,4Q, 1 Q3 100 Q T TIRT Fleh AT
A" wfedie 8
A) <100 Q B) <4Q
C)>2Q D) <1Q
149, S Seare % forq it wemm gfFa 3
A) DLF B) CFL
C) FCL D) LPG
150. 3f st R wfody arat T
mﬁqﬁ.’m%,?ﬁmw
yfeay &
R 2
A) = By N
n ) -
n
“ R D) R
n
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Answer Key for PECE 2021
Question No. swer Key Guestion No.| Answer Key Guestion No. | Answer Key

1 A 51 C 101 B
2 D 52 Cc 102 B
3 B 53 D 103 A
4 B 54 B 104 c
5 D 55 D 105 Cc
[ A 56 B 106 D

7 c 57 D 107 B
8 D 58 D 108 B
9 C 59 D 108 A
10 B 60 B 110 C
11 B 61 D 11 A
12 A 62 D 112 B
13 C 63 A 113 Cc
14 A E4 B 114 A
15 -] 65 D 115 Cc
16 B g6 c 116 B
17 B 67 D 17 A
18 B 68 A 118 A
19 B 69 A 119 A
20 B 70 B 120 Cc
21 D d D 121 C
22 A 72 B 122 A
23 B 73 A 123 Cc
24 B 74 c 124 D
25 D 75 D 125 B
26 D 76 B 126 c
27 c 17 A 127 D
28 D 78 A 128 D
29 D 79 A 129 A
30 c 80 B 130 D
31 A 81 A 131 D
32 B 82 A 132 A
33 B 83 c 133 C
34 Cc 84 c 134 C
35 c 85 D 135 B
36 C 86 B 136 C
37 A a7 B 137 B
38 A a8 D 138 A
39 B 89 B 139 A
40 A 90 A 140 B
41 c 81 D 141 Cc
42 A 92 C 142 C
43 B 93 A 143 C
44 A 94 A 144 D
45 B 95 C 145 C
46 A 96 A 148 c
47 A 97 A 147 D
48 A 98 B 148 D
49 B 99 Cc 149 B
50 A 100 B 150 D
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